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Topo 2A (lemon)
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Inputs:[L1_muons,L1_eFex taus,L1_jFex taus,L1 jFexLR jets,L1 jFexSR_jets,L
1 MET,L1_egammas]

Input size: 111

Model size: 111->32->16->3
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Topo 2B (chocolate)
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Inputs:[L1_egammas,L1 jFexLR_jets,L1 jFexSR jets,L1 MET,L1_jFex_taus]
Input size: 75
Model size: 75->32->16->3

Topo 2B Model_ROC 10¢ = 10°
10° 1
10° § 108
1072 1 107
p 1073
g 10°
1074 A 2
g g ] 10°
1075 A -== diagonal ® 10° ;- = 10%
~— backround: 0.501
— HLT_passed: 0.852 10-1 10°
1ot - —— L1_passed: 0.649 ]
— just_L1 passed: 0.641 102
T T T T T 1072 T T T J
107 10~° 107* 1072 10° 1072 107! 10° 10? 107 10° 104

fpr event pt



Topo 3A (Strawberry)
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Inputs:[L1_egammas,L1_eFex taus,L1 jFex taus,L1_jFexLR jets,L1 jFexSR_jet
s,L1_MET]

Input size: 93

Model size: 93->32->16->3
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